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PART -A
NN - R
Note : Answer all questions. Each question carries 1 mark. - (1x40 = 40)

AW : IR :sﬁqﬁda mé@% déw?ﬁﬁ 1 903,

~

1. Primitive observers defined natural phenomenon as an activity of
a) Super natural forces

Machines

)
b) Humans
c)

d) None of the above

SRPETIOR FOOTI TPEIF TS 27283 258,0300% éi)eggda = @’éoiaﬁﬁﬁd% Q0T
R STRROTITD.

a) ©gEE 7Y

b) S»RJRD
c) ooz nwhd
d) BoedS cInTe Y,

2. Science and Technology in Ancient India is a work by
a) Joseph Needham
b) D.P.Chattopadhyaya
c) Sushil Kumar Mukherjee
d) John Bernard
“ 539,236 4T3 &m@s BB BoBRS " B3 B SeDFD
a) BREIF® VTR

b) & wmewm o
c) deer %admf aba&bz%r
d) 2T WRFEE
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3. DNA Finger Printing is used in Forensic test is based on
a) Matching of the DNA sequences from specimen’s crime site and suspects

b) Matching of the DNA sequences from specimens at crime site and suspect’s
parents

c) Matching of the DNA sequences from specimens at crime site and suspect’s
children '

d) Allthe above
WG RS (Forensic) Bodnermoodsd) DNA ?,Sd%fzigd TWOBOL S0 oees BB

IR ST
a) PL AV RT3 IRTBond SR B3 %8030 DNA 985833003 Brotmess

b) Pes 793 BT 83 Bos35 FotS e 200033 DNA BRBRIT Boomoess
C) Pu I3 TR0 B 30838 8% DNA 0935833 Beomosss
d) S0edT 0P

4. The radiant énergy of the sun is due to

a) Nuclear fission b) Nuclear fusion

c) Radioactive decay d) All of the above

ARODFS Q8TLd BEOI0 CIRTYBOOTRNAT ?

a) LEVATTI b) HoRead A0S

C) 839 O d) eds e
5. Origin of Species is a work of

a) Mathew Arnold b) Charles Darwin

c) Albert Einstein d) Sigmund Freud

22657 8303 VXT3 Se)B3D

a) msdf% BIEST, b) WO DR

C) COEF DT A d) anjow FR,055°,
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6. and are two major discoveries of 151 century which led
to expansion of white colonies outside Europe.

a) Spinning machine and telescope

&)

Gunpowder and steam engine
c) Gunpowder and Mariner's compass
d) Mariner's compass and telescope
WY _ C30TRELTOWR WPOZT [IBBONY DY TN
THOBREERL, 15 e FSBRIE TR BE0ed e, TND.
a) SRWI 0308, 08 BRTTIF T
b) QS B 0=y won cdoo,
C) OS RR =08 TFT DB
d) HFT DBRLS B BRUTTFS

7. Non-conventional sources of energy are
a) Nuclear, Biomass, Wind, Thermal
b)
c) Biomass, Solar, Wind and Tidal
d)

Geothermal, Ocean, Solar and Nuclear

None of the above

©ROTITIIOWT DOPRE WUDONH

a) WORNEW, DTS, O3, T

b) 2308, FONT, AVT &8 WTmTe

C) 226008, FPT, WOCIN WO XN SN
d) 009 cInTe L)
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8. GreenHouse gases such as carbon dioxide and methane cause
a) Increase in planet’s surface temperature by blocking sunlight

b) Decrease surface temperature by absorbing sunlight

c) Increase planet surface temperature by trapping moisture

d) Increase planet surface temperature by trapping the heat in the atmosphere

BATITOR LONTOT QOO B w8 33089 0TI D

a) BRI %dsarf%fsg& CIRin® mmms& TBUROTSS

b) RRCIFT T2 &0 FRROOD BITWI), R REYS

c) @&Dodaa’% LR, WRRICD ﬁae@w@m’ﬁg{ BURIGSS

d) sozwTes swmsi BRBRT WRNOD daeeiw:%ajaid% ézi;béaﬂ
9. Internet can be defined as

a) A software program installed on a computer

b) An electronic device for printing documents

c) A world-wide collection of computer networks

d) A powerbackup source

BOTT" LR VB B3 FPNTOT 539,909, & SRBLBITD

a) ﬁméaﬁao@d@meﬂmmq)&%d 2,000 FTFICT”

b) SRR B0QRL LVTOdReNTE DBITE PTI

C) QB TRT,08 NEFFOR0ZNY 23000 ZonE

d) Q@ BeDTHOD WG
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10. The fear of GM crops for human consumers are due to

A

_ack of information on long term effects on biodiversity
o) Religious practices are against modifying a species

=) Foreign genes in food may cause cancer

(

, All of the above

30080 PN YUBINeN o,TBFTO BLOLO TTED

a) 236e G WO DR)NG DT F TV TOFTIT 27}, TSNPV DTIRTO
b) oa0ss e52ddRe3d) RN L3RR QRET

C) B3 VRFFNFTIR TRVNS 2EROND 5,70° PVOEITINTBIT LHCID

d) F0edS VTP

(&)

11. Protected land for conservation of wild life, plant and animal resources and
traditional life of tribals living in that area is known as

a) Sanctuary b) National Park
c) Biosphere reserve d) All of the above

aﬁa’gszﬁe&, #:’35 03 79,68 R0TB) TN moajmowé wdémw %30 2RI #odii%mﬁ
QR @deéda&l N[00 3B0300TT 2

a) L3eRTs, b) o803 SapkaY
C) BeRnReY d) 0O 2P
12. What was the first disease to be treated with a specific chemical ?
a) Tuberculosis b) Syphilis
c) Bacterial meningitis d) Whooping cough
OFE, ToARCIRT BROOW00T 2388rievns Bk SRTO 39000 03RTYHTIO ?
a) Fo Been b) AO=°
c) DD xR T d) oo FBR
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13.

14.

15.

Radioisotope used in production of nuclear weapons in India is

a) Uranium b) Plutonium

c) Thorium d) Radium

P08 69,8, SCIPOFOIY, VO3RN QT Rdmo(isotope) Shted
a) o308ec300 b) @Md@eamo

C) TReDC300 d) Se&o3d0

Which of the following is an example of genetic variation ?
a) Two children have different eye colors

b) One person is older than another

c¢) One person has a scar, but his friend does not

d) Todd eats meat, but his brother Rod is a vegetarian

B3 FINSYINTE). 03N 8RB0 e e} PUTRHTTCIRNG ?
) 2363 2360 B3R ey BROOT AR WAL

b) zowgaﬁoé TODRT WBRY,

C) )W, BRODT) WS A3 R0 AQOTRYTO

d) ¢3RwE° BRI BTT LSS By ToE® ARRTI0

The moons of Jupiter are called

a) Satellites b) Simpleton

c) Galilean d) None of the above
MOCOR BT SUBNBRT DTOTO FTODSONT ?

a) YUIRTNL b) 20T e3*

c) OO d) S0edT BRPTR VY,
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16. Scientific studies of nature is necessary in society for
a) Simple curiosity and improve people’s lives
n) Economic development and enlightenment
=) Increasing control over our planet and its environment
d) Allthe above
TBRRTE), BTBOI F2) @5 quécmsm@ WRNZTY QTIR)T
a) BBRVODOT TN TIT B3I RGRORLD
b) &3 ﬁﬁ?@&%@@ aaam»zsa q;\’xfaema’z:’)
C) RN oI B30 TOBIRTLIT 08 VO30T, TORRIYTO
d) S0eIT QTP

17. Which of the following is a weather sensing satellite ?

a) Astrosat b) Radarsat

c) Meteosat d) INSAT3DR
33 BINSHNTE) R0 BeoossRS B0 NTND 7

a) SRR b) ST AR
C) QL3RR Es d) ez mEs* 3DR

18. Father of Indian Nuclear Programme is

a) J.C. Bose b) HomidJ. Bhabha
c) Vikram Sarabhai d) C.V.Raman
20T TTIERD O3RERIO WT

a) 2.5 3R b) Zweed 2. TP
o IR Eeanlentanlevey d) 2.8. 0930°
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19. First Nuclear Power Plant set up in India is

a) NaroraAtomic Power Station established in 1979 at Maharashtra

b) Tarapur Atomic Power Station established in 1969 at Maharashtra

c) TarapurAtomic Power Station established in 1969 at Uttar Pradesh
)

d) Kakrapur Atomic Power Station established in 1969 at Gujarat

O3RE SR 353 0IRF T, EPTIR HHFR? 96 DT ARSI LA ?
a) 1979 3¢ OTH,TY, MRS FART 2£a0 IO

b) 1969 99 SERBE, T POTT e I

@R

¢) 1969 38, WITBBHRY, LB BIT e WIS

~d) 1:969 8@2} muca@“aie‘;) m@&é @@@Cf €9£30 m@dd
20. Which }of the following technological advances are affecting human cognition,
émotions and ethics ? |
a) Bus, aeroplane, microwave ovens
b) Boilers, metro trains, television
c) Internet, cell phones, digital communication devices
d) Submarines, radars, missiles
3INS IR 0083 eﬁzjvag@@odo RTINS BRIDI 205y, TS BN FIsSNe e
O LTSS ?
a) WA, ENT, BB’ wd (oven)
b) tRCRT, S0tk Feo, BRSTIFE
C) 203072500, AO® FHES® ROTT RIT® WG
d) weROBWFRTE, S0’ WB) e
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21. The lens used to construct a Microscope

23.

z) Convex b) Concave

) Biconvex d) Biconcave
o) _&deﬁréd 303532081 VBO3RENRIT TORRT C3RTYTO ?

a) 263 TOIRT b) 233, BRRT

C) Qe RORRT d) @d)—adg( RORRT

. Most likely event which can cause a rise in the average temperature of earth’s

atmosphere in future is
a) Forest fires b) CO, from fossil fuels
c) Dust clouds from volcanoes d) Depletion of earth’s ozone layer

POFTY, RV BeRBRITY, ROoR0 TITBNRIT  DOFR 03N DT BRBOOT
ROYROT ATEE W) 2

o) g,

b) TWBOR0YE VOGINSOT YVOETNII BOTTOTERY,

C) 2%),TRFNDAPOT BATBAWRES FRVS SRTER

d) R LRt BITH AEY

)

Plants with green and tender stems are called
a) Herbs
b) Shrubs
c) Trees
d) All of the above
W saocéaﬁd% BRODTORN ;‘dﬁ%ﬁefﬁg{ DOT FBO3T30.
a) N®
D) oS3
=3

oy
“ KU

—~ o= s
d) <098 QP
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24.

High Yielding Variety Seeds (HYV) were introduced to Indian farmers as a
result of

a) White Revolution b) Green Revolution
c) Red Revolution d) Orange Revolution
30,7900 BRI weuﬁ%fa@{ pleriagelcrelyl ad@zio&a%zggﬁ TOFHOROTC ?
a) 3,625,089 b) =20x89,08
c) Som)so08 d) s8¥52,08
25. Who is known as the father of Indian Monsoon Model ?
a) Madhavan Nair b) Vikram Sarabhai
c) Vasant Gowrikar d) C.N.R.Rao
LPTIT TROTWT BIRTIB SNTONG BIT 0T omdsiédojamﬁd 7
a) SRPRS T b) Q85° TOLIOIF
C) RO MP0eE0° d) 2. 2%°.30°. o’
26. New way of thinking, sparked by a philosophy known as
a) Humanism b) Socialism
c) Behaviorism d) Politics
TR SSREWINDT T0DCRT &ﬁmﬂg?y
a) BRINBTT b) F=RT
C) RIFT0T0T d) oowmdeodd
27. The latest satellite launched by India is
a) Astrosat b) Rohini
c) GSAT 18 d) INSAT 3DR
DN YPTT) LV ORI YUTR T 03RO 9
a) eﬁr&%emgw b) dre&sd
C) X -18 d) omw & -3DR
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28. A

[ ]
l‘]

30.

31.

A social science is the systematic study of

=) The natural world b) Models of reality
-~ Human behavior and society d) Experimentation
=SRTIT DT mﬁaj) 33 3PN O3RTYTT gamcg eﬁqﬁesojaaﬁmﬁd s

a) SANFT Caloalelis b) w300 RRTO

o) ERIR SERE BB AR d) o,03ReNsE

Mho laid down the first accurate laws of motion for masses ?

a) Nicholas Copernicus b) Galileo

c) Oldham d) Einstein

BP0 wPON @@mér{%ﬁ WO Eocmaﬁar{%fz\%g{ 3TN @ém@%ddd&
a) BRVT® FRITIFIT b) ROOc3Re

c) ‘29%5336 d) TR
Photovoltaic energy is the conversion of sunlightinto

a) Chemical energy b) Biogas

c) Electricity d) Geothermal energy
d%@oi)d%@%ﬁé D030 APTTECIT), N VORSFRIBT.
a) TORROINE B8 b) 2§vs @O

) o‘bzﬁ%@@ 38 d) 3Rz 3

Blue revolution being envisaged by the Govt. of India is aimed at

a) Increasing industrial production of blue dyes

b) Augmenting pulse production

¢) Enhancing aquaculture products both in brakish and fresh water

d) Increasing fish production in fresh water

-5 33 R0590) S8 THNS CIeT w08, 2edT,08CW z,ﬁéeoﬁmc%eaﬁaﬁﬁgt RIRIBT ?
e wszgad GIARleLD weﬁﬁ@*ﬁ& a%?%;bf@da

:i;_.:)«# z;agggmf BT éa&wﬁa@da

C) 230 T2 RRVOTT &Q{e@d@ﬁd&%d&%éd T aézswzb@da

2.5:2203¢) Q0T I méﬁcﬁ“’wq a?zgnb@cﬁa

oy

]

(@]
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32.

33.

34.

Which of these two provide proof of excellence of Indian metallurgy before
industrial revolution ?

a) Damascus swords of West Asia and iron pillar near the Qutub Minar
b) India gate and Gateway of India

c¢) Tippu Sultan’s sword and palace

d) None of the above

B3 FINT 030 WM 30T 59,0803 FRTLO §PTZe0NT 03w TIBOT DT
QTSEINTGINT 9

a) a’éwda m@éd cgm:@ B8 3308 BoB0w® QOCTDT” WP is’?%?@d 3OW

b) aoBo3m riees w08y rieesTase 5 QORI

C) &) RRTT 8 33083 w0

d) S0edT IR e,

Which one of these depletes the ozone layer and causes global warming ?
a) Nitrogen dioxide b) CFCs

c) Ammonia d) Allthe above

3ER ST oSnT dﬁgﬁ%ﬁa WP ARTLOIN08 NG TONEB TTRNSS QOER
BTN P

a) MTRITE & 53 &° b) 3pedre Fredre LD’
C) ©9RPEAOIM d) S0edT e

What is the maximum speed possible for any wave in the solar system ?
a) Every wave can have its own speed b) Speed of light

c) Speed of electron d) None of the above
ARODFRIOBOTE), 0IRTTIe 208 937 AT TN @08 ﬁer{dx% 2

a) T3 eBe3 3?3@@ =3T3 derﬁﬁdg{ BROTILTOT

b) Wz 5@7#&35?%

C) 25 AT Benww),

d) B0edT oIRFTe ey
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35. Washing soaps contain
a) Potassium salts of fatty acids
b) Sodium 2nd calcium salts of fatty acids
-\ Potzssium and sodium salts of fatty acids
Sod salts of fatty acids
2 ~Em3e SUBOIREARIE WA B3 FING 030 0BNTRY, BROX ?
a) 3 -wﬁ SN FPLIAO30 (o)
b) 3R0P SN F,O0300 BB AREBOO ORI
c) mwﬁ SRR APERCI0 OB TPEPXOZ0 WD
d) @f@?ﬁ)ﬁ STINY AREECI0 WD

36. Who was the father of White Revolution ?

a) Dr. Norman Borlaung b) Dr.M.S. Swaminathan
c) Dr. Varghese Kurien d) K.N.Bahal

2PTBE §¢0 53,0803 BOT3 C3RTO?

a) oIl OTOF° LReTYON” b) @oll 0. 7. TP
c) @l SNeFA® 00T d) 3.05°. WHS®

37. Scientific management of animal livestock, breeding and diseases control is

a) Animal husbandry b) Animal based farming
c) Bothaandb d) None

2RRRTING FRNT IR B, 29 LR 208) Gren DO

a) BB AORRETI b) 5,63 553008 T

c) a BB b HTEL d) c3RRTR 2O,
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39.

40.

+C) BRI Beeicdo BB LR BRod

- 628 16 AR

Antimicrobial drugs that are derived from the natural processes of some

microorganisms and that can inhibit or destroy other microorganisms are
specifically known as what ?

a) Chemotherapeutic drugs b) Prophylactic drugs

c) Semisynthetic drugs d) Antibiotics

mgbaaeam SRANFT Ty odoowos wéﬁmzﬁ 3OR) ﬂfbﬁé@@@ - B3 BIQRD w33
SR RSN ERIATS PBRIRRBS, B3 PSR DO F TN Bcd BECDRRITS 9
a) B0 Bar b) dren ddneE Bas

C) ©3- 338 BRG d) Tedeersnsd

Detergents are better than soaps in removal of greasy dirt because

a) They have longer fatty acids than soaps

b) They have surfactants which make them interact with greasy dirt
c) They contain less sodium and potassium

d). They are water repellents

SRBEBTAL FWARINONCE NN VAT B¢ OTBREITI. 5900

a) AWHRAINGS DU %’Jaasy @dgﬁﬁeﬁﬁi BRODSI

b) oegd @ﬁwréﬁ%@oad% BRT ZRY3NTES B8R 9878 RTAS

d) ) BOITRORR) ' :

The process of softening of hard water by using nanoparticles is known as
a) Nanopurification b) Nanoremediation
¢) Nandfilteration d) All of the above

SR Re T qﬁrﬁ@ﬁd&d VTO3REN VT FTORRERIT @goﬁaodaag Q0T
afdwoerarbgd
a) :3ee BQEBTed b) =BeeZomd

C) WBee 3repdng d) S0eds wezgp
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QN -
~swerall questions. Each question carries 2 marks. (15x2 = 30)

42.

32 2 ::'{éa’o SVZOR. wéw@?ﬁZ@oﬁﬁe}o

Mnich statement best describes the structure of an atom ?

=) Atiny nucleus of protons and neutrons with electrons orbiting around it
o) A positive core surrounded by electrons packed tightly around it ;-

c) A particle comprised of a mixture of protons, electrons and neutrons

d) A large core of protons and electrons surrounded by neutrons
GHOTND mdzﬂa@ B3 9N C3RT Tewd QWORZE ?

a) TPRERT’ T SRIVI V0T 8RB, 285 T Reos e 3ree) g0 wowd By, Feots,
b) 5 & RPom RIBITOT 200 s Fe0T,

C) FpURT, SRRT BB ST DY DOFEIT 10T FEd

d) SRR NPT RBI[OT Fp et RBY DT TN 20T BRa $eots

Heliocentric model of Nicolas Copernicus explains the motions of planets
a) Motion of astronomical epicycles
b) Motion of heavenly bodies around the earth
c) Motion of planets around the sun
d) Motion of satellites around the planets
DERCOR’ RETIFTAS ART, 00T TR TINT WOI BRWOERVOTT, NENY
BORE3RD B3 FLNTOE 5 mw&ado
a) Drney LRWIT 0080 WO
b) 2300 B8 ©BTTCINE WO
C) RARTE R RBENT WO
d) RBENTRS LVTNBNY WO

SPACE FOR ROUGH WORK
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43. Ancient Indian knowledge of theories on human body, symptoms of disease and

44.

45.

46.

remedies in ayurveda are made available in which Sanskrit text ?
a) Arthashastra b) Charaka Samhita
c) Chandasshastra d) Aryabhatiya

RINTD SOCTT VU, BREMNG MILILT LN 53030 Ieyne 23837 5030 er T o @gwc—g

-0

32863 G083 CIRT RoRE oRRY. LB ?

a) YRR, b) 2308 R0&3

c) eﬁodmﬁj d) ©3esecdd

Nano smart materials that alter shape under the influence of an electric field is
a) Thermoresponsive materials b) Polychromic materials

c) Electrochromic materials d) Piezoelectric materials

QWT FET TWOFRTN0T BB SFTHR), WHETCWRS T Fee edd38O(Nano smart)
GHADI AT ALE®) Q0T TS0
W

a) YU TGP TRTFNED b) BT ear s3Raried

C) BR BT TR d) Fplneds 5 WA
Second stage of the industrial revolution

a) Consumable goods production b) Capital goods production
c) Standardization d) Productivity

3MR0% 52,0801 DTBERC B0 ijaa’g)dﬁ zﬁowo@ﬁocﬁ% ?

a) MOTT ACEINY LUBITS b) 0@ RTBNS evEsS
C) BWREIFTeD d) wveaces

Which of the following is true for “Sound” ?

a) Sound cannot travel through a vacuum b) Sound cannot travel through gases
c) Sound cannot travel through liquids d) Sound cannot travel through solids
‘5?%%; B3 FENT CINTYT AOBROTIZE ?

a) JWFI (vacuum) SoeeT B3OREHTED b) eQonsg Sres B3ORRTTD

C) TN BWOT BORCHTTH d) NG BT BARHTTO
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Which of the following definition for ‘Science’ has been coined by Carl Sagan?
a) Science is a way of thinking much more than it is a body of knowledge
0) Is an intellectual activity carried out by humans

i

49.

-2 is a knowledge covering general truths of the operation of general laws
science is uncertain and subject to revision

=TT ARTT I50 RS w9, aR W)

2] IR0 WM PC PormTned SEReED SRNFeEang

o) =mE=od écéf\od 2WOT w’aaé U330

Z IR AY w08y BN, Dwadaﬁ@d TTUWTBONSRTRROR 2 )

d) 2z ;’)d @@aﬁp SAOFH daéa w@wdsaﬁ mﬁmr{a’écﬁa

Difference between hybrid and transgenic or GMO plants
a) Hybrids live longer and transgenics live shorter

b) Hybrids arise due to cross pollination, while transgenics are produced by transfer
of specific genes from different species

c) Hybrids are generated from grafting but transgenics result from germination

d) Genes in hybrids are under breeders control, but in GMO plants they are
uncontrolled

TBL 0B Boe0BO SPRYNTD FER
a) méé@ﬁﬁ QO OO, &Uaoé@mfo BT WRBIZI

b) &oéé@rﬁeﬁa W@ TOANE 3000003 wééomdd éomoé@ BN DOFF 0ToseoD
58@7{%9& 2363 29803 A RN90T SIRRY NIRRT

C) 3@:)7#4& éNmzéadJcﬁ@od 3C3R0TT, t’oeraoé@r{%fm BRYEC0T BoIRORONIITS
d) ébaé smq@ RT0ST FEaNed BAMDTT Newslech sazﬁ@z:b &mo@’br{%@ QT T, éb@

The observed increase in the average temperature of the air near earth’s surface
and oceans in recent decades is

a) Environmentchange b) Global warming

c) Health change d) None

QST TTBINIE. mﬁaeeﬁwﬁ 083 TS RoIRO SOTRRTEE), FOTRIORTRT OO
a) TORN WO b) 239ME8 STRNIT 0%

C) STRMT WERTE d) amRRTe ©,
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50. Informed public with science and technology background are necessary ina
Democracy.

a) Toconvey to state necessity and feasibility of intended science business

b) To deliberate on diverse views on merits and demerits of technology to select
right ones

c
d

~—

To bring transparency in technology based business, policy-making on vital issues
All of the above

@jm@aﬁa@d@m TR =033 B0 ,qgﬁd EENo Jevor) T BT w:%daﬁéé. 52059
3 mcﬁ@e% QTR _ﬁ—éo@?ﬁ@ ,;i — 3703 WL 03 RewSRY FOF AFICD i

2 L
&L
L B
g GL

&

b) S, agetReeD o R PRI L (A TIEeT RoctnTER 0%

c) 30BN P ~ 553008 33,00/ oLt DROPNIE_ R OB QSRS T3S rc10]OV
d) BB QP ‘

51. Importance of information technology in education are
a) Fasteraccessto information from across the globe
b) On-line libraries and dictionaries, make grasping and learning easier
c) ITbased communication systems such as emails, SMS help interaction for clarity
d) Allthe above
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52. Match the scientists and their discoveries :

Scientist , Discovery
A. Alfred Nobel ' i. Vaccination
8. Edward Jenner ii. Electric bulb
C. Newton iii. Gravitational force
D. Thomas Alva Edison iv. Dynamite
a) A=ii,B=i,C=iv, D =ii
b) A=iv,B=iii, C=i,D =i
c) A=ii,B=iv,C=i,D =i

d) A =i, B:=1; C =iv,:D =i
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a) A=ii,B=i,C=iv,D =i
D) A=iv,B=iii, C=i,D =i
c) A=iii,B=iv,C =i, D =ii
d) A=ii,B=i, C=iv, D =iii
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53. Match the Philosopher/Scientist with their contribution :

Scientist Contribution
A. Aristotle i. Three laws of motion
B. Newton ii. Laws of inheritance
C. Gregor Mendel iii. Gravitational force
D. Galileo iv. Scientific methods
a) A=ii,B=i,C=iv, D=l b)A:iii,B:iv,C:f,D:ii
c) A=iv,B=i, C=ii, D =i d) A=ii,B=i,C=iv, D =ii
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a) A=ii,B=i,C=iv,D =i b) A=iii, B=iv,C=i,D=ii
c) A=iv,B =i, C=ii, D =i d) A=ii,B=i,C=iv, D =ii
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54.

For a fixed mass of gas at constant temperature, if we decrease volume, the

pressure will

8V

also decrease

()

ncrease

)

remains constant

(

)} none of these
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How stationary waves are formed ?

a) A transverse wave superposing a longitudinal wave

b) Two waves of the same speed superposing

c) Two waves of same frequency travelling in the same direction

d) Two waves of same frequency travelling in the opposite direction
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